Linear Algebra
Quiz 1

Name:

You have 10 minutes to complete this quiz. If you have a question raise your hand
and remain seated. In order to receive full credit your answer must be complete,
legible and correct. Show your work, and give adequate explanations.

1. Consider the system

T +2$2 +31‘3 = 0
T +3I’2 +2£L‘3 = 2
201 +3x9 +Tx3 = —2
(a) Write down the augmented matrix of the system and then put it in row echelon
form.

1 2 3] 0 12 3]0 1 0 5|4

1 3 2] 2 — 01 —1]2 or 01 —1] 2

2 3 7|2 00 0]0],, 00 0 0],;

(b) What is the general solution to the system?

xr3 — T3, 1’2:2+1U3, 1‘1:—4—51’3

(a) Write down the elementary matrix E that has the property that, for each
3 X n matrix A, F A is the matrix obtained from A by switching its first and
last rows.
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(b) Write down the elementary matrix E that has the property that, for each 3xn
matrix A, F'A is the matrix obtained from A by adding twice the middle row
of A to the first row of A.
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